AN BN/ =y N

WA 4 AR R R T VB R A S 25t (2 D2) m—1 7 No.
F¥E T HEA4
*— kNo.

— T4 S B-10 TR E FHA R o o b i 35° 547 2.0”
= BB T R AGE S A R R FHATHA R SER25%-5 H 10 H ~254E5 H 14 H R 140° 297 45.5”
e \ T a7 A=V
R RS FRELA et U ifik

o TP £ 180° ¥ 0 Hi i | = . IN T — W T,
L : 00 R P DO—D - T EEE
LOEE | L eon N A T e | R e o D R FH B
i S ED 1 .
PN D RSN _ o\, —p _
R 25. 44m [ 1] 18T il | o0t fi | TV NFD—10 ANV DC—3C
E I R S = N At L O OE A R B JOAL B R OBR | BUBHRE % i
H 14
10cmfg: D i i
. e | K ‘ enfED | o N n ‘ X B 4 B |
(=1 X | 5t a e s | B2 T . § o | 4 1
m | | e o - BRORR | |R %]~
Rom& | & | E | R Vs ¥
© e |0|10]20 % fiE EE
& # | = o B A
EL g ]s s a &%
B lm | 10]20] 30| B m %
1 H =T N
m | m | m | m Sy | oM 5 H em | 0 10 20 30 40 50 60 e ~ |H
E 0~0.10m L= 7 VU—F 3
E 0.10~0. 13m A 5/10 E
E HI4 | ABIR 0. 13~0. 90m WE + TR+ ( 0.85 ]
o1 WYE A+ | REIR ?)%goé)l 60m Bt E DL =it ) VT | A15 -
E ~ m ES 5.6 V/10-p-1 P E
£ 00818018 V@% KITEA SRR cai f ] E
= . SV MR GAREL D WORFAY— | 4 | | | | L =
F 2 o6l o o 30l 0 iy | "X J_MJ:EQQ;//V*E@E?U 1215 e 9 lyo %mﬁ B 1
= — e GKETAL R . . / b1 E
g == | DD e HAYII i E 7 B 7RIt 249 18] 121 |30 - E
= 3| -L41 o0.80 3.10% IR .5 | |y T | - | 3.15 =
F - : 212115 |as V///10->-14 P E
8 GAER~Z 3.46[12 | 12] 7 | 31 3.46 E
S Mol 6}034%%14817)) B S T O VO N ) AN SN I A IO s 5
E N K D) = = - T A 90 A
2 s N EhnTER 1131307 les D povy b | |10
8 -3.21]  1.80_  4.90." A A7 1L 11 32 -1 ]
=) — WRY | oo GIKEZ N REMETLT 51 | | |\ | T 0 | == 5. 15 —
: s 050 sa====| oo WK YL A bt 112] |3 o V21004 P E
E 5.45/24 | 6 30 540 E
= 6 W | g ﬂgfﬁ%%\ T — 615 | | | | N | | [ 51 =
E fib IS SN —2RIZ VL b B 313128 s 7/ h0v-1 p E
g 8 ﬁm ERTIRA 6. 47 1232 647 i
- 7 —5. 36| 1. 65 7. 05': g7k%q:|f\,%[/\ *E:[\iqj,f\j 7.t | ! ! | Attt | e —
E = TR | e s N N Ny 1 1 Jo.d9 Z10-p-4 P E
g . 6,00 070 LT3 oL b | K %B%E;EE%%AMK%U ; 411; 32 32 747 E
E y %] D BA s 0 1T | - | 8.15 =
F L | (Dﬁ%fmzﬁx gcti;— 1)1 2 |20 ///0->-4 P E
E 3 EAIRY | K gEfZiKFI’J 2% W\%_»E.U 8.45 1713 30 8.45 E
9l -7.39 130 o9.08 Fi % & — RISV b 2t 9. 15 3
E = 11 2 |19 P E
: = KA ot el A A ]
= 10 == itk 7 o p E
E = k| R AN SV - Bkt 0l1/1] 23 E
E = Y - ERRIEA 1048221 6 [20] 48 ]
SR = 10nf3E & ¥ KL |11 00 3
F = 0 00 P ]
E -9.96)  2.60 11.65— 1147 47 47 E
= 12 - .15 | | P~ | 12,15 —
E 313141]1040 7/ Jlo-r-18 P E
E 12. 45 30 12,45 E
= 13 ST AN 81 T 1 1 | [~~~ 13, 15 =
2 Ty £ 11EH 18141311040 777)0r-11 P E
E il i At - ERRIREA 1345 30 13.45 E
~ 14 WK F}%AH[J ] 4;@ //XJ;\:A%Z@U iy | | | | T | - 14,15 =
C a2V b — Iz ] 5 V777 40-p-15 ]
2 LAnfRE £ 0 2ok B~ 2y — 31415 é(Z) 12. ﬁ OPl P ;
= 15 .15 | | | |\ T 11 | [~~~ 1 15. 15 =
B 3141613193 /5 7/ /lo-p-16 P E
F ; 15.45 30 15. 45 E
C —14. 26| 4.30 15.95|" |
£ 16 .15 | | | | —T T 1 1 | "~~~ 116,15 =
B 2121216 6o < 7/ Ao-p-11 P E
E 16. 45 30 16. 45 E
= 17 w1 1 | - 1715 =
E 3121419 Joo f V//jo->-18 P ]
o 17.45[12 | 8 30 17. 45) E
~ 18 815 | | | | Tt | [~ 18, 15 —
F v K ES 21112]5 |50 Vjo-p-1p P E
E % b DRLT-F D < AFITHY— 18.45 14| 6 30 8. 45 E
=19 é i ;Jtiﬁi’:? /ﬂ/ }\/J\%fa? 9.1 | | | | YTt F 1 | - 19. 15 4
8 N = DR Ho-15 . 1
F # 4 7 3 21113]6 56 7/ o-r-2p P E
g %E\ E‘g*’a //I/ }\ {E%} Ci& 6z) 19.47 15| 5 | 12| 32 ﬁ 19. 4 E
= 20 2011 | | | |\ Tt | [~——=—-—-- 1 20. 15 —
F 211]13] 6 |60 ?> 7/ A0-p-21 P 3
£ 20.4515 | 5 30 20. 45 E
21 211 | | | | ——————— ———T—— | === ié
= 2121216 56 g\ 13 1
E 21.47 12 32 E
T 22]-20.36 218 | | | | T T 11 | [~ 22,15 =
= GKET~Z 0 C VA 0-p-- B
2 : W | WK WOk R - et o 7 Al 3
r -21. 11 0.75 22.80.". EIK?}J]— Eﬁ&ﬂ_/}\%/ﬁ‘)\ ]
E 23 231, | | | | T 77 | —
E 11 13|16 ] 40 po. 1
E 73.45 30 .
= 24 pAl i ?*%qﬂiﬁ N . 2418 | | | | ——— 1 —~1—1] | [~ .
F | R %ﬁ%ﬂﬁ“g@?‘é? 1211520 | 47 7. ]
g =H R 2 B 94,45 30 E
= 25 : 25.15, | | | | mMm—Hr—F———— Y% | - -- 5
= -23.75  2.64] 25. 44 14 117119 | 50 51.7 Q 14 4
F 25. 44| 9 29 B




